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JE K e = 1 31, 025, 606
Ak T = 1 26, 402, 970
BIEIA-N - T2 = 1 26, 281,270 | BIHIF—n" =14 9, 190 m2
TemPA T —J8 Bez=d 0 o I FHASR ET ATy
(20) #&HZEE 50mm ;
HOE T (B eIH) 460 m3
TA7 7 (BIED)
RISy 460 m3
TA7 7 (BIED)
TAT 7 M2 AR T = 1 121,700 |J7y7Bf51ky—}b 100 m
B IAKERS BESO0cm ;
iR T = 1 2,961, 776
[EE Y 1 2,961,776 r‘ﬁﬁTl: i 2,570 m
W FE) FHR(BE) 15cm JE1. bmm HEAKMEEE
ntﬁ
r‘ﬁﬁﬂ: i 850 m
W FE) R (35) 30cm JE1. bmm HEAKMEES
ntﬁ
r‘ﬁﬁﬂ: i 38 m
W FE) AR (B) 15cm JE1. bmm HEKMEES
ntﬁ
r‘ﬁﬁﬂ: i 9 m
WA FE) AR (B) 30cm JE1. bmm HEAKMEES
ntﬁ
i =X R 290 m
A FE) v 777 (8) 45em JE 1. Smm HEK AR
LA
r‘ﬁﬁﬂ: i 910 m
T8 KE-FE 5 307 (H) 15emiftE JE1
.5mm PEAKPEAHHE A
T XX T 18 m
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Hom e (RFkL) =X 1 5, 375, 000
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B FR =X 1 14, 182, 000
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BIEIA-N A 2,700 m2
TemPA R —J8 BeZEd 0 o AR ET ATy
(20) #&HZEE 50mm ;

s (& B A 25 m3
TA7 7 (BIED)

s (R B A 110 m3
TA7 7 (BIED)

By 135 m3
TA7 7 (BIED)

TAT 7 VMR AR S T = 1 243,400 | 77y)B5 1ky-} 200 m
B IAKERS BESO0cm ;

X R T = 1 1,410, 468

X [ T = 1 1,410,468 | ¥FEX HEiGRE 1, 270 m
W FE) FHR(BE) 15cm JE1. bmm HEAKMEEE

i =X R 710 m
W FE) R (E) 15cm JE1. bmm HEAKMEES

TR X 5 m
W FE) AR (B) 15cm JE1. bmm HEKMEES

i =X R 63 m
WA FE) AR (B) 30cm JE1. bmm HEAKMEES

i =X R 200 m
WRTFE) £ 777 (8) 45em E1. 5mm HEAKPEES

i =X R 470 m
A T8 JKE) -5 30 (H) 15emifE JE1
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. 5mm PEKPEE L
TR X iR 38 m

R CFE) RED-FES 30 (B)  15emifli R
. 5mm PR PR |

& L X 1 738, 160
REEET. X 1 738,160 | 221 a5 H 2 B 1 X
BT EE =X 1 10, 228, 553
B RER =X 1 2, 534, 000
e TE: X 1 296, 000
T =X 1 142,000 | G g 2 1 =
B BREYGEY, (3G L) =X 1 154, 000
Hom e (RFkL) =X 1 2, 238, 000
T =X 1 12, 762, 553
B FR =X 1 5, 888, 000
N i =X 1 18, 650, 553
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THE4 | R6 - 7TEBRENGERETE
TEHX4y « Tfd - FER B Az W B & #A i il A R
JE K e = 1 1, 354, 327
Ak T = 1 1, 183, 274
HI—n = A T 2y 1 1,061,574 | BIHIA-»" -1 4 366 m2
TemPA T —J8 Bez=d 0 o I FHASR ET ATy
(20) #&HZEE 50mm ;
HOE T (B eIH) 18 m3
TAT7 bk (CBIED
RISy 18 m3
TAT7 bk (BJED
TAT 7 VMR AR S T = 1 121,700 |J7y7Bf51ky—}b 100 m
B IAKERS BESO0cm ;
X R T = 1 78, 783
X R T = 1 78,783 | IR X AR 40 m
W FE) FHR(BE) 15cm JE1. bmm HEAKMEEE
i =X R 100 m
W FE) R (E) 15cm JE1. bmm HEAKMEES
i =X R 30 m
WA FE) AR (B) 30cm JE1. bmm HEAKMEES
A Y 1 92, 270
AEEHT Y 1 92,270 | 23 A ELEE 1 =
[ERANE Xy = 1 1, 354, 327
HiE 2 1 502, 000
BISTI S = 1 172, 000
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BUGBREIUEL (REH L) 2V 1 30, 000
sty (R L) 2V 1 330, 000
ol T 2V 1 1, 856, 327
e R E20 1 948, 000
T AT 2V 1 2, 804, 327
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